SuMPO SuMPO EPD SUMPOBRIEFAILFOY5 s

.. S14TNBIBEETE (EPD) HRHTFHRBEXAMET-14-8
VERIFIED KANDA SQUARE GATE
BEixES ¢ JR-AI-25426E-A https://ecoleaf-label jp

Hh>-JOFo23>TU5—

Color Production Printer

Xerox® Proficio™ PX500 Production Press

(for Europe)

BREBEEE . EXTILLESRIA I R—2 3> HAaHt

FUJIFILM Business Innovation Corp.

HEHM ZFES JR-AI-25426E-A
WFPCRES  PA-590000-Al-08
WE1EHEY
PCR% BERA DS
HEN REZRE N:L=! 202693848
| §=3a3) O Hr s B4 RIEEHEEH 2026528 17H
OFRMEFZE QL E Q7R @FER - #iF RIEA X VAT LEREEA R
OFEZE- Y1) RIEES 2025-FB-EL-078
MEEE#hHAR 2031428 16H
HROBK, TELH- - PCRLE1-DEHE
R : Xerox® Proficio™ PX500 Production Press REHZ 2023F 98 1H
FEMHHR  TUYY- (EPAR) ZER #iE Ex
FNRIEE : /70 100ppm (A4 LEF) (FFB — Mt EiEAY AT T IR S HEERE)
$5- 100ppm (A4 LEF) B=HRE* BHEFT
SRV 1 330.2 x 1300mm NEBIREE S
UV ISO14025(ZHE 2= AT E U T - DI LIAREE
17 T F e ORER W AHER
*YAF LRI E B BEENORIDB AL, YATLRIEITEBED
ZEETH,

Muahtse BEIAMIALESHRAALINR—33kRAEHt
WEMAXAREASWN6T B1E
https://www.fujifilm.com/fb/

E#k&ES © JR-AI-25426E-A


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOBRIEINILTOIF A

E p D _ — A FE AT AT S IR B
q .0 S4TNBIEEE (EPD) EREBT A ERXAME-14-8
VEREELED KANDA SQUARE GATE
bt i o JR-Al-25426E-A https://ecoleaf-label jp
F1IV1 IV R E IR
g s . . 5 - HEFE
BRETERR | BLEERR T R B e BEEEER R
RUREE) - A5 kg-CO-eq 4.29E+03 4.83E+02 6.61E+02 1.21E+04 5.21E+02
AV EBHIE kg-CFC-11eq 1.74E-04 7.91E-07 1.38E-07 3.65E-04 8.57E-08
EXREL kg-PO43-eq 7.08E-02 6.23E-03 1.17E-03 4.60E-01 9.98E-04
Bttt kg-SOzeq 1.05E+01 3.49E+00 4.27E-01 6.08E+01 6.64E-01
HALFEAXII Vb kg-CzHaeq 6.31E-02 3.48E-04 2.81E-03 8.15E-02 6.73E-03

F1THLIIWAIRY RS RBIEER
—REROERICEIT 51E1F

FRERGN | SRR | B ﬁ?g-;:% e
BEAEE—RER - IrIF- (RPRp) M) 7.79E+03 4.45E+03 6.06E+01 6.98E+04 2.92E+02
BEAR—RER - IRVF-2HMH (RPR) M) 8.62E+01 7.29E-02 1.58E+03 2.32E+03 6.11E-02
FEBETH—RER - TRIF- (NRPRY) M) 6.94E+04 1.76E+04 7.56E+03 3.13E+05 4.05E+03
S AR —RER - TRVE-BEME (NRPR,) M) 447E+03 5.61E+00 9.53E+00 2.60E+04 4.94E-01
HRKDHEE m? 2.12E+01 2.98E-01 1.66E+02 2.79E+02 5.49E-02

BERRICETZEMIER

I-OyNEHr@EFEELTEELELE,

TUII—(EPAR)DIZEREYFUATEELTVET,

- B RO EFEARMIESEMTT,

(EF - HEFERBE(CH T BENRI BIRO AT I E TN E A

A8 ENRIA# (L. 5,990,400 TF,

(ER - HREERBICBVT AMEERBENETRYTUAZBAVWTEELELE,

EEHEBNE [kWh] = {4 EME (044 Wh/H] x1 B HEYOBEIGREKR (ENRIER) [4992 #]+LT1EH [879 W] x 1B HEYDOL T8
R [7.168 h]} x5 Hx4 Bx12 7 B x5 £+1000

1B HEYOLTAEER [h] =8 [h]- 1 B HEVOBEIGRER (ENRIRED) [4992 ]+ ENRIZRE [100 #/min] + 60(5/KER)

Z Dt DFRIFBIEE R
-EBTRNF-25-T0T5LVer3.2 £ REGRBEEEHE.

dJd = <] 9 D18 ¥ g = = g9 A5
- 9E (EREHBS) Bifig 1HH CAS No. ENE
SRk 480 kg - -
Sus 11 kg - - -
TIIZUA 9.7 kg
ZOMtERE 28 kg ERALEZRT-IDERX A
I32F9Y 96 kg RENIE, LCIT -5 N-RIDEA Ver3.4, SUMPOREININTOII LB KT -5
SN 12 kg Ver1.16ZERLTVET,
A2 0.48 kg
o 5| i
S E 19 kg ZEH 2026 £38188 & SZotmAtEEM,
ZARER G 36 kg
Z0ft 26 kg

OT-FEENF L. PCRELVEE - ESRRESRL I,
OLLRIDOVTL BE  EERBICHREINLREEHLLLGELLIRHONEEA,
(BHB%URL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

